Sample Python Test #1 Solution
1) (5 pts) Produce a single Python statement that prints out the following (shown below):
Sam says,"Let's go to the sea."

(Hint: Use an escape sequence.)
print("Sam says,\"Let's go to the sea.\"")
Grading: print 1pt, quotes 1pt, outer quotes: 1 pt, text 1 pt, escape sequence 1 pt
2) (10 pts) Evaluate the following expressions in Python:

a) 3 + 4*7
31

f) 17 + 23*(18 - 18%200)
17
b) 17/4

4.25

g) 6.4%1.1


0.9
c) 25//4

6

h) (3 + 4)*8//5

11
d) -18//4

-5

i) 3 + 4*8//5


9
e) 23%-5

-2

j) 3 + 4*8/5


9.4
Grading: 1 pt each
3) (9 pts) What is the output of the following segment of code:

x = 3

y = 7

z = 6

temp = 2*x + 3*y - z

y = temp - y

x = x + 1

z = y - x

print("x =",x,"y =",y,"z =",z)
Answer: x = 4 y = 14 z = 10 (Grading: 3 pts each)
Version A

4) (5 pts) Write a single line of code to read in a real number from the user into the variable money. In reading in this information, prompt the user with the message: "How much money do you have?".

money = float(input("How much money do you have?"))
(Grading: money= 1 pt, float() 1 pt, input() 1 pt, string 1 pt, “” 1 pt

5) (10 pts) What is the output of the following segment of code:

a = True

b = False

c = True

if a and (b or c):

    print("V")

if not a or (b and c):
    print("W")

    print("X")

print("Y")

if c and a:
    print("Z")

VYZ (1 pt for printing V, 1 pt for no W, 1 pt for no X, 1 pt for printing Y, 1 pt for print Z)
Version A

6) (10 pts) Identify 5 errors in the segment of code below. Explain how to fix each of these errors.

area = PI*radius*radius

PI == 3.14

radius = input("Please enter the radius of your circle.")

print("The area is": area))

Error #1: Statements are in an incorrect order.
Fix #1: Move the first statement to be third.
Error #2: Two equal signs in the second statement
Fix#2: Change it to one equal sign, for assignment
Error #3: A string is being stored in radius. int or float is needed.
Fix#3: Call the int() or float() function passing in the return value from the input function.
Error #4: There should be no colon in the last line
Fix #4: Change the colon to a comma, which separates arguments in a function call. Also, changing it to a plus sign will work for string concatenation.
Error #5: There are two close parentheses but only one open one on the last line.
Fix #5: Remove the last close parenthesis from the last line
Grading: 1 pt for each error and 1 pt for fix. If they answer both parts in just the error, give them both points of credit.

If they say there are two errors with radius being uninitialized, only count it as one.

7) (15 pts) The Python program below is intended to calculate and print out the number of people that can be transported with a fleet of motorcycles, cars and vans, given that 2 people can ride on one motorcycle, 5 people in one car, and 15 in one van. Complete the program so it runs as intended.
def main():

    num_cycles = int(input("How many motorcycles do you have?"))
    num_cars = int(input("How many cars do you have?"))
    num_vans = int(input("How many vans do you have?"))
    num_people = 2*num_cycles+5*num_cars+15*num_vans
    print(“Your fleet can move”,num_people,”people.”)
main()

8) (25 pts) For your homework, you wrote a program that found the two roots of a quadratic equation. In the assignment, you assumed that the roots would be real. For this question, complete the program so that it reads in integers a, b and c from the quadratic equation, and if the roots are not real, prints out the message, "Sorry your equation has complex roots." If the roots are real, your program should print them out in numeric order, from smallest to largest.
def main():

    a = int(input("Enter a from your quadratic equation."))
    b = int(input("Enter b from your quadratic equation."))
    c = int(input("Enter c from your quadratic equation."))
    if b*b - 4*a*c < 0:

# 5 pts
        print("Sorry your question has complex roots.") # 3 pts
    else:

        root1 = (-b - (b*b - 4*a*c)**.5)/(2*a)  # 4 pts
        root2 = (-b + (b*b - 4*a*c)**.5)/(2*a)  # 4 pts


   if (root1 < root2):                     # 3 pts
        
  print("The roots are",root1,"and",root2) # 3 pts

   else:
            print("The roots are",root2,"and",root1) # 3 pts
main()

